Warm up 4/11/19
1. Solve: 1 6 ix + L
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2. The length of a rectangle is three less than two times
its width. If the width is increased by 4, the new
rectangle has a perimeter of 32 inches. What is the width
of the new rectangle?

3. Which of the following 5
would be a solution for the - 4
graph shown? . // 2
A.(0,-1) N
B.(-3,1) 6174 |21 21416
C.(0,3) 2
D. All of the above FPER. ‘
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Negative Exponents

Negative exponents can be rewritten using positive
exponents using the Negative Exponent Rule

-a _ 1 NEVER leave a

X — negative exponent




Directions: Rewrite each expression using positive exponents
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Dividing Polynomials

by Monomials




Dividing Pol 1s by M )

Step 1: Divide each by simplifying the
coefficents and subtract the
exponents of the like bases.

Step 2: Simplify any negative exponents.




Example:

3x%y- 12xy - 15y°
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You Try:

1. 16xy + 4x°y* - 8xy




2. 15a°b° - 3ab + 9b*
3ab
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*On Half sheet of

Mixed Review Paper
Simplify:
1. 4(2a*bc?)* (-3a’b®c)?

2. -“12x3 + 8x% - 4x
2X

3. (-2x* - 5x? + 14x) + (6x* - 3x? + 1)

4. (-10x% + 6x - 14) - (7x? - 3x + 5)



